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 Syllogism (TYS) -1 Solution  

1 c 9 D 17 B 25 E 

2 A 10 E 18 C 26 A 

3 E 11 E 19 C 27 C 

4 D 12 A 20 E 28 B 

5 E 13 B 21 A 29 C 

6 B 14 A 22 C 30 A 

7 E 15 C 23 B   

8 b 16 d 24 D   

 
1.(c)  

 
Either I or II follow 
2. (a)  

 
Only I follows 

3.(e)  

 
Both follow 
4.(d) 

  
None follows 
5.(e) 
 

 
Both follow 

6.(b) Only II follows 

 
7. (e)  

 
Both follow 
8.(b) 

 
Only II follow 

9.(d) 

  
None follows 
10.(e)  

 
Both follow 
11.(e) 
 

 
Both I and II follow. 
12.(a) 

 
Only I follows 

13.(b) 
 

 

 
14.(a)  

 
Only I follows 
15.(c)  

 
Or  

 
Either I or II follows. 

16. (d)  
All follow 
 
17.(b)  

 
Only I follows 

18.(c) 
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I and III follow 
19.(c)  

       
Only III follows 
20.(e)  
 
21.(a)  

 or  

 
None  follows 
22.(c)  

 
Only I and II follows. 
23.(b) 

 

 
Or 

 
Either I or III follows 

24.(d) 

  
Only III follows. 
25.(e) 

 
All follow 
26.(a) 

chairs

tables

women

 
Only I follows.  
27.(c) 

pens

pencil

monkey

 
Only I follows.  
28.(b) 

Crow

black beautiful
or

Crow

black

beautiful

Only II follows.  
29. (c) 

books mobile calculators

 
Both follow.  

30.(a) 

actress

s i
n
ge
r

dancer
 

Only I follows  


